2. Read the passage again and complete the following sentences accordingly.

a. There were around users of social media in the world in 2015.

b. In 2018, the numberof social media usersis expected toreach worldwide.
c. Facebook has active users.

d. WhatsApp has users, ahead of the Facebook messenger app, which has
700 million users.

e. Twitter is on the list and Linkedin is last.

f.In eighth place, we find Skype, Google+ and with 300 million users each.

g. In the second guarter of 2015, the number of mobile-only active users of Facebook reached

which is double of what it was the year before.




